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JlE8(Ex)
76,960 x 12 %2602 %43 .51% 8,707
= 8,707
JlE2a (KA
76,9603 x1H »2602! +56.. 485% 11,303
cFRrY 76,9602 x1&x52& 4,002
ERLPNESS 76,9602 x 18 » 12! 924
2E=2 24,935,040 * 1+ 14% 3,491
0=l 200,0002+1 2 #23] 400
201 Ler23| 1,300 1,189 11
= 1,300
01 At22t2lH] 1,300 1,189 11
O=HIEZAS 1,300
—0iA A0l M 5002 *1,000H 500
= 500
—oAS=Y2 22|
8,0003 18100 800
= 800
ANSISE 2l 7,960 7,960 0
201 2= 7,960 7,960
01 At2t2lt] 7,960 7,960
ONSASSs24SE AN HH
1,000& *10Z5+5000H 5,000
OMNSASES AHOIA M
2,000&*1,000& 2,000
OXsSiSELF S|
8,000 x2& +60! 960
RS & 4203 2e| 1,046,167 878,234 167,933
IS & AR XMlgt 2 1,046,167 878,234 167,933
=S 2l 891,168 871,334 19,834
201 er23| 233,940 240,204 6,264
01 AtR2t2|HI 1,500 0 1,500
OIS W= 300,000& %1 300
ONAXAN 2B WK
300,000 *1& 300
OSHLSAHT & Y
300,000 3% 900
02 S3=gl 232,440 240,204 AT, 764
oJes &Kks 222,480
—s& 2SS dJIks
1,800&*5,3000112& 114,480
—AIJHK Jt2S 8D
4,500 *2,0000H* 122 108,000
OJI2s RANE=IY SR
500,000 * 122 6,000
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ONZSEEANAE Sl
330,000 * 122 3,960
202 04dl 6,000 0 6,000
01 2L AL 6,000 0 6,000
OJIz2s el =0
20,0002 *3EH =100 6,000
401 AIEHIZ R 0HYI 651,228 631,130 20,098
01 Al&HI 648,420 627,200 21,220
OJIZ2S &l - 018 SAt
1,200,000 *3000H 2= 360,000
OJt28 =& 200,000
—LEo8 T g 70,0002 %1, 200K 84,000
—82J #¢ 70,000 »600H 42,000
—teA Y 80,000 x300H 24,000
—JIE2S ARFES 72
10,000,000& %55 50,000
OJz2s = & HMel(22)
1,000, 0002 *307H 2 30,000
onzs Rl 5 9
58,420,000 * 14| 58,420
03 Al 2 CHHI 2,808 3,930 A1,122
OJzs =Al2el 390,000, 0002 *0.72% 2,808
MR Xelgt 29 154,999 0 154,999
201 er=23y| 11,800 0 11,800
01 AtR2t2|HI 5,300 0 5,300
OSHESAA tEEHl 2
300,000 3 900
OZE= M 1,000& %1,00082+25 2,000
OoAaRs 7¢ 200,000 * 122 2,400
02 S3=4gHl 6,500 0 6,500
OXtg =Al2clbl 500,000 * 122 6,000
OXtg 28l 500,000 1CH 500
202 04| 4,000 0 4,000
01 =LHO LI 4,000 0 4,000
OMEoIg M2l XA o]
20,0003 x2E 100! 4,000
206 MH=Hl 35,000 0 35,000
01 MZH| 35,000 0 35,000
OMZHl 35,000,000 x 14 35,000
401 Al HIZ S 0HbI 34,199 0 34,199
01 A28l 34,199 0 34,199
ONMEDIAHE| B 34,199,000+ 14! 3,199
405 KHaHE SH 70,000 0 70,000
01 Tt =S F=HI 70,000 0 70,000
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Oxtg 7 60,000,000 = 1CH 60,000
OJ1A &I F¢ 5,000,000& *25 10,000
OlSE1 At AFE3 X4 7,078,578 265,450 6,813,128
CH 2,250,000
=S 3,512,540
s 1,316,038
OLEUE =HEd ZEAE 231,808 218,680 13,128
< 12,540
[Ea 219,268
SO0 E 818 3| 20,400 29,000 28,600
< 6,120
s 14,280
402 QI”F X201 & 20,400 29,000 28,600
= 6,120
= 14,280
02 QI A2 AL E R (0IHTHE) 20,400 29,000 8,600
OZHIEEAS 20,400
—SIE | (LURIE)
1,200,000 175 20,400
== 6.120
[Ea 14,280
sEEE s=dA 100,000 100,000 0
402 QI”F X201 & 100,000 100,000
01 QI X2 AL E R (KEMITHE) 100,000 100,000
OsE8E A 5,000,000&«20= 100,000
=d0IEXAS 21 &l 20,400 20,000 400
= 6,120
o 14,280
402 212+ X201 & 20,400 20,000 400
== 6.120
o 14,280
02 RIINEASEZ(0IETHR) 20,400 20,000 400
OEHIEEAIS 20,400
— g EHI(S0IEXS)
600,000 345 20,400
= 6,120
Ea 14,280
HYAMU =HEHH XA 40,000 40,000
402 2I2F X201 & 40,000 40,000
01 BIINSASE X (XM THR) 40,000 40,000
O =EEAHIXIH
2,000,000& *20S 40,000
S8 O =l XA 1,008 0 1,008
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202 04l 5,520 5,520
o1 =LHolb 5,520 5,520
OASS s N o o2
20,0003 x2& »50! 2,000
O=T2R A3s, 22d S &4
60,0002 8 42 1,920
SEEESE R LR
20,0003 2 40 1,600
SENG FHEARS 75 6,800,000 0 6,800,000
CH 2,250,000
[ 3,500,000
T 1,050,000
I (Worker In)&tF Z2ME (XLAHUHSIIS) 6,800,000 0 6,800,000
CH 2,250,000
== 3,500,000
s 1,050,000
403 AXIEHHSA=201H 6,800,000 0 6,800,000
CH 2,250,000
= 3,500,000
o 1,050,000
02 SISOt =2 X A E A I 6,800,000 0 6,800,000
OXNLAZBUHESI IS A 6,800,000
—A=AY HYUU=E Y RS2
6.,800,000,000& *14] 6,800,000
CH 2,250,000
=S 3,500,000
s 1,050,000
BIRAHIA JHA 15,940 15,940 0
sXi2elel MA st 15,940 15,940 0
EYUsAEER HEH 2| 15,940 15,940 0
201 fer23y| 7,140 7,140 0
01 AtR2t2lHI 7,140 7,140 0
SEHSAHESA HEd E2=S M
60,0003 » 1574 2-#22] 1,800
O=gsNdg A=
300,000 %52 1,500
O=H¥sA o= Sl
8,000 x5 06! 3,840
202 048l 3,800 3,800
01 2L AL 3,800 3,800
SEHSAEE Al.22F WIS
60,0003 x38 10! 1,800
OsgsXOga?) &=
20,0003 x28 50 2,000
401 Al HIZ 2018 5,000 5,000 0
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S At

M ol AHIA A
eelr sX2elel MAHSt (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 Al&HI 5,000 5,000 0
OHEHEHZHI 5,000,000& *13] 5,000
8880l EX S&2el 1,750,381 2,158,143 AN407,762
= 285,694
= 1,464,687
255 N&2e 1,228,789 1,658,385 A429,5%6
= 285,694
= 3,095
JNES§= P ol 6,840 6,840 0
201 L2 AH| 3,400 3,400
01 AtR2telt] 3,400 3,400
OEXOISAEAN 2 45 144
2002 *1,00001 5= 1,000
OEXOISZEAA 2 55 =HX
2, 7003100055 1,350
OXE=SFZNUE Bl
70,0002 x 1534 1,050
202 0idl 3,440 3,440
01 =LHO4 b 3,440 3,440
OXHESRAKIAE L NOILIEEA
60,0003 x6H *43| 1,440
OXESD &L IEEZHAL SEEQ
20,0003 x2H+50) 2,000
NE=ES J|IEE UMY 26,010 24,090 1,920
201 L2 AH| 26,010 24,090 1,920
01 AtR2telt] 26,010 24,090 1,920
OXNEE2E (MAHEEA HEHSETA}
15,0002 %1,000& *110% 16,500
OXNEE2H (MAHZEH Het)dlE
69,0003 *100& *110% 7,590
O=&t| 8,000 x3H 80 1,920
IHESAIXIIE Z=AL 250,156 247,575 2,581
= 68,250
= 181,906
101 2124 d| 86,59% 82,455 4,141
= 18,290
[ 68,306
M IIZINZ2 2SS Es 86,59% 82,455 4,141
O=HIEZAH 86,59%
=J|23(XtAl)
76,9603 x3H x2652 *70. 107% 42,8%4
—Jl22(Ex)
76,9603 x3 *2652 29 .893% 18,290
= 18,290
—=54 76,9603 x3H 52 12,006
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SN BIRZAID
M aEH EX S
ot 2t XX 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
— ¢ x==g 76,9602 x3E * 12 2,771
—28= 75,960, 000& *14% 10,635
201 fet=23y| 155,560 185,120 440
= 46,200
s 109,360
01 At22t2l] 185,560 185,120 440
O=HIEEZAS 185,560
—&EXOF HOIE HE =2 (XHA)
70031 %165, 0002 X|+60% 69,300
—MERF HIIE BE =2 (EX)
7002 %165, 0002 K| *40fk 46,200
= 46,200
— &I 252 (FAI2)
6,00024+2,000& K| 12,000
—SAMERI} BEFR
6,000 » 1002 X| 600
—0I2AME XDt BE=B
15,0002 » 1002 X| 1,500
—22FWH € altg S AR 2
el 3,500,000 3,500
—HESAXIL EE B0 L g2t
900,000 *62] 5,400
—SAMXIIEEME 7,000& *1,3000H 9,100
—SStIASAIRIAR #42E
100,000 8 *33] 2,400
—HERES M8 BE =2 S
500,000 62 3,000
—SZ20HAHI 8,000& 4 »80 2,560
202 04l 8,000 10,000 22,000
= 3,760
= 4,240
01 =LHAHI 8,000 10,000 /2,000
O=HIZ2 XA 8,000
—JHESAIXDOt F2 FXOHI(KHA)
20,0002 x4 %1002 *53% 4,240
—IHESAIXOL P2 FAAHHI(EX)
20,0002 x4« 100 %4 7% 3,760
= 3,760
AHQUS 22| At 50,575 29,835 20,740
101 e124d| 28,125 27,385 740
M ORINZZ2NSE S 28,125 27,385 740
OXH HMEE &= 28,125
—J=2 76,9603 x 12 #2652 19,3%
-5+ 76,9602 x1&x52& 4,002
— %X 76,9603 x 18 x 12 924

_9_




SN BIRZAID
M aEH EX S
ot 2t XX 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—28= 24,319,360 * 1%+ 14% 3,405
— L=yl 200,000& x1H*23] 400
201 fet=23y| 2,450 2,450
01 AtR2tc|HI 2,450 2,450
OXHZ 23 2t 2,450
~NRBE(ZADIEH, 278F S) 7Y
2,450,000 2,450
301 EtE NS 20,000 20,000
14 IIEt2 83 20,000 20,000
ORSMARAUIFSI|Y EX0l 45
20,000,000 20,000
SSUETESRAAL(KRAS) RAIE= 87,514 36, 166 51,348
201 fer=3| 36,514 36, 166 348
02 s3=gHl 36,514 36, 166 348
ORSUEESRAAH (KRAS) SR 2= 36,514
—ot=RI0f 300,000,000 *8% 24,000
—GISAEIR| 25 AZEN
10,428,000 » 14 10,428
—HQIEE 233 AZEYO
20,856,000 *10% 2,086
405 KHaHE SH 51,000 51,000
01 TR ESFHSHI 51,000 51,000
OFRSLUZEBRAAE (KRAS)F =205t
51,000,000& *14| 51,000
234t 2l 1,280 1,280 0
201 er=23| 1,280 1,280
01 AtR2te|Hl 1,280 1,280
O=s4 YA 2el, A& Sl
8,000 x2&+80! 1,280
KIZTHZ=AE A (READ) 588,970 1,102,715 A513,745
201 et 3| 39,770 39,610 160
01 At22t2l] 33,850 28,750 5,100
ORIETEARI S| B4
100,000& x3& =22 600
OBANZHSIAE FaLY
100, 0003 »7 & »33] 2,100
@=] 8,000& x3&*100& 2,400
OS0Ism)| 22 BY 2o
7,000,000 *3K 21,000
OF0&ds| Sas M
250,000 *3H 750
OXNEMEAL 2S5 M
50,0002 *200K 1,000
OXIET AL 23 AIRES7E
1,000,000 1,000
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SN oI AL
M aEH EX S
ol 2Eet XE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXHZAL XA 28 =l
250,0003 »202 X 5,000
02 S3=gHl 5,920 10,860 A4,940
OO0 S&= 35,0002 x 122 420
OMEMSKA QEESZ
2,500&+2,2005 5,500
202 04l 4,200 4,200
01 2LHoIH 4,200 4,200
OXNEMEAIH R =& 04|
20, 00021324702} 4,200
401 Al&HIZ S H| 545,000 1,058,905 £513,905
01 Al&H| 545,000 1,088,905 513,905
OZHI LB} 248
45,00021+500E %23 45,000
ONEMEMN ZH2 X2(3M4)
100,000& %5,000m" 500,000
XIETHEA AFSE (EX) 217,444 73,926 143,518
= 217,444
201 =3 17,119 5,137 11,982
= 17,119
01 AtR2t2|HI 17,119 5,137 11,982
O=HIEXZAIY 17,119
—JIEE 25| 55,0002 %1238 6.765
= 6.765
—d3EI} =2 S 10,354,000 10,354
= 10,354
403 AXIEHMSAH=0ld 200,325 68,789 131,536
= 200,325
02 SI12S0ItH et =& 2 €A ] 200,325 68,789 131,536
O=HIE XA 200,325
—XIHETHZA SEH]
184,801 *1,084& Xl 200,325
= 200,325
KESE HASAY 286,900 246,901 39,999
KNHBE Hbtsh AIAHE = 31,621 26,231 5,390
201 er23| 8,301 8,301 0
2 5234l 8,301 8,301 0
OXNHEA2ASE 2] AIAE FX2e
413,386,587 3 *12.55%+* 16% 8,301
207 ARl 23,320 17,930 5,390
02 HAHHEHHI 23,320 17,930 5,390
OEXIOISZ2A 7702 %10,0000H 7,700
ORSMSEXIYE =0lA
7703 +7,0000K 5,390
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SN oI AL
M aEH EX S
el NHEF At (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFgZ it 7,700& *1,3000H 10,010
OHEXEFR 2,200 =1000H 220
IBAHEE SEHA 2= 41,984 41,984 0
201 fer= 3| 41,984 41,984
02 S3=gHl 41,984 41,984
O=2IIBLEEAMAE SAE= 41,984
—ot=RI0] 123,064,300 8% 9,846
—ATEN 214,250,700 *15% 32,138
T(E)EX - LOorHE &=23H ArZ (XHH) 213,295 213,295
207 ARl 213,295 213,295
02 MAHHZHI 213,29 213,295
ORUH(SEH, =88, XN=H, o)t
S5HAY (2XH) 2,700 +78,998H 213,29
CRHIASHSEE 234,692 252,857 18,165
C2EFAMNY 234,692 252,857 18,165
101 e124d| 7,019 6,684 335
M ORINZZ2NSE S 7,019 6.684 335
O=IIF=AEEAMAHE JI=XE EH| 7,019
—JlZ2= 76,9603 x 1 +80! 6,157
—28= 6,156,800« 12 *14% 862
201 etz 3| 25,620 24,910 710
01 At 2|l 11,280 11,680 2400
OE2E=4 2= M 6,560
—E2=23 A 2,000 *2,500H 5,000
=Rt 60,0002 * 1304 A +23] 1,560
OEZEFAAHISYUSE HIFE SENH 2,000
—'~2'3(450+350) 1,500 *1,0000HK 1,500
—'~2 ' 5(830%240) 5002 *1,0000H 500
O=2HF4223 &4 &
100,000& 4 & »23] 800
O HFAAY 4|
8,000& x3&+80& 1,920
02 s3=gHl 14,340 13,230 1,110
OO0 S&lZ
60,0003 x3CH* 122 2,160
OCR2EFA(RSAUIESHAAH)AUE
"= 12,180
—2%, ds8AMIRL
1,015,000 %129 2= 12,180
202 04| 4,800 4,800
01 =LHOLI 4,800 4,800
OEZHFAAY H A
20,0003 x3& »80 4,800
206 M=l 1,000 1,000 0
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=S8X =l
CRYYASHSESR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 1,000 1,000 0
OASHSEH 2& Y2
10,0002 »100H 1,000
401 AIEHIX R0 130,200 191,300 261,100
01 A28l 130,200 191,300 261,100
O=zFe 0. 24 500, 0002 %554 27,500
OASHSE F0H.&X
15,0002 *500H 7,500
OZ2gzs ZAHDAL SN2+ B
11,0002 %2, 1004 23,100
OASHST HLZAl B
1,400& 11,0004 15,400
O=led A=sd
15,0002 %2,0007H 30,000
O, 2lE FAHEBAIE HWEX
500, 0003 *20H 10,000
OAtE=a8 24X & JH|
65,000 » 180K 11,700
O=JHN&EHES TAH 2 EH|
125,000 *40H 5,000
403 AXIEHMSAH=0IH 65,053 24,163 40,890
02 SIS0t = A P E A I 65,053 24,163 40,890
OZIFLHBAIABI(KAIS) RXIZ% 18,173
—GIS & S/W KRXIZ= 2,518,000& 2,518
—KAIS 2K 15,655,000& 15,655
OXHAITH =AFHEAIAE A= 20,013
—ol=Zetegl 18,319,000 18,319
—CGIoIEH S&g/det 1,694,000& 1,694
OgHFEaz=s & FAFEI 2L RAES
26,867,000 26,867
405 AHAHE S 1,000 1,000
01 AL =S F = 1,000 1,000
O ZHEXNAFAIAY SHEI| 7Y
1,000,000 = 1CH 1,000
HH2LZH(LASAID) 128,853 128,853 0
Jl=23sl 128,853 128,853 0
JI23Hl 128,853 128,853 0
201 =3 68,193 68,193 0
01 At22t2l] 68,193 68,193 0
ORKASN 1,831,000 31 56,761
O=el 6,200
—SZ20HAHI 8,000 +31& »26L 6,200
OS A&t 5,232
—ZeSADI 286,000 «1CH* 122 3,432
—SWSAD| 150,000 x1CH= 123 1,800
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SN LHEZADL
M Y RAZH|(DIFSAL)
=l Jl=3H| (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 55,800 55,800
01 2LHoIH 55,800 55,800
OZLH0AH] 100,000 x31H «12& 37,200
O&=2l0t| 75,0003 31 H 8 18,600
203 =4l 4,860 4,860
MU FA2SHI LI 4,860 4,860
ORAEgE =AY 405,000 123 4,860
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